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QUESTION 1

It is a hard-disk failure that occurs when a read-write head of a hard disk drive comes in contact with its rotating platter,
resulting in permanent and usually irreparable damage to the magnetic media on the platter surface. Which of the
following fits the above description?

A. Electrical Failure.

B. Bad Platter Area.

C. Bad Sector.

D. Head Crash.

Correct Answer: D

QUESTION 2

Which of the following disk interface technologies use serial interface technology? (Multiple Choice)
A. ATA

B. SATA

C.sas

D. IDE

Correct Answer: BCD

QUESTION 3

In storage systems, what does throughput refers to?

A. Amount of data that can be received and written to the storage medium in a period of time.
B. Amount of data that can be transmitted and received over network in a period of time.

C. Amount of signals that can be sent or received by processors in a period of time.

D. Amount of calculations that can be processed in a period of time.

Correct Answer: A

QUESTION 4
Statement 1: a snapshot of a ThinLUN at creation does not occupy storage capacity. The snapshot of a ThickLUN at

creation immediately occupies storage capacity. Statement 2: When a snapshot of a ThickLUN exists, there is always
space available to store changes to the original data.
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A. Statements 1 and 2 are both true.
B. Statement 1 is true and statement 2 is false.
C. Statement 1 is false and statement 2 is true.
D. Both statements 1 and 2 are false.

Correct Answer: D

QUESTION 5

When the RPO is minutes instead of hours the best backup method is traditional Tape backup.
A. TRUE

B. FALSE

Correct Answer: B
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